

$$\log_n^m = a \quad \log_{mn}^{m'n} = b$$

$$\log_{mn}^{m'n} = \underbrace{\log_{mn}^{mn}}_1 + \log_{mn}^m = 1 + \frac{1}{\log_m^{mn}} = 1 + \frac{1}{\log_m^m \cdot \log_m^n} = 1 + \frac{1}{1 + \frac{1}{\log_n^m}} = 1 + \frac{1}{\frac{a+1}{a}} = 1 + \frac{a}{a+1}$$

$$[b] = \left[1 + \frac{a}{a+1}\right] = 1 + \left[\frac{a}{a+1}\right] = 1 \Rightarrow [b] = 1$$

$0 < \frac{a}{a+1} < 1$

یا) $y = \sqrt{\frac{x}{\log \frac{1}{x}}} \rightarrow x > 0$ ① $\frac{x}{\log \frac{1}{x}} > 0 \rightarrow \frac{0}{0} + \frac{1}{0} -$ ② ① ② $\rightarrow (m+1) = D_{f^2}(0, 1)$

ب) $y = \frac{\log(x^2 - x - 1)}{\sqrt{x^2 - 1} + 1} \rightarrow x^2 - x - 1 > 0 \Rightarrow (x-2)(x+1) > 0 \rightarrow \frac{-1}{2} < x < 2 \rightarrow x \in (-\infty, -1) \cup (2, +\infty)$ ③

$x^2 - 1 > 0 \rightarrow x^2 > 1 \rightarrow x \in (-\infty, -1) \cup (1, +\infty)$ ④ ③ ④ $\rightarrow x \in (-\infty, -1) \cup (2, +\infty)$

$$r \log_a^a + \log_a^{\sqrt{m}} = r \xrightarrow{x=a} r \log_a^a + \log_a^r = r \rightarrow \log_a^a + \frac{1}{\log_a^r} = r \xrightarrow{(\log_a^a = t)} t + \frac{1}{t} = r \rightarrow \frac{t^2 + 1}{t} = r \rightarrow rt + t + 1 = 0 \Rightarrow t^2 - rt + 1 = 0 \Rightarrow t = 1$$

$$\Rightarrow \log_a^a = 1 \rightarrow r = a \Rightarrow [a = 3]$$

$$(\log^{\frac{2}{3}})^x + (\log^a)^x - \log 10 = 0$$

$$|a - \beta| \leq \frac{\sqrt{\Delta}}{2\alpha} \leq \frac{\sqrt{(\log^a)^2 + 4 \log^{\frac{2}{3}} \log 10}}{2 \log^{\frac{2}{3}}} = \frac{\sqrt{(r \log^{\frac{2}{3}})^2 + 4 (\log^{\frac{1}{3}} - \log^{\frac{1}{3}} - \log^{\frac{1}{3}})(\log^{\frac{1}{3}} - \log^{\frac{1}{3}} + \log^{\frac{1}{3}})}}{2 \log^{\frac{2}{3}}}$$

$$= \frac{\sqrt{0.48 + 1.44}}{2 \cdot 1.4} = \frac{\sqrt{1.92}}{2.8} = \frac{1.4}{2.8} = \frac{14}{28}$$

$$\log_{10}^{\frac{1}{10}} = \frac{\log_{10}^{\frac{1}{10}}}{\log_{10}^{\frac{1}{10}}} = \frac{\log_{10}^{\frac{1}{10}} + \log_{10}^{\frac{1}{10}}}{\log_{10}^{\frac{1}{10}} + \log_{10}^{\frac{1}{10}}} = \frac{2}{2} = 1$$

$$\log_{10}^{\frac{1}{10}} = \frac{1}{10} \Rightarrow \log_{10}^{\frac{1}{10}} = \frac{1}{\log_{10}^{\frac{1}{10}}} = 10$$

$$\log_{\omega}^{\gamma} = \frac{\log_r^{\gamma}}{\log_r^{\omega}} = \frac{\log_r^{\gamma} + \log_r^{\gamma}}{\log_r^{\gamma} + \log_r^{\omega}} = \frac{1 + \frac{\omega}{\lambda}}{1 + \frac{\gamma}{\lambda}} = \frac{\lambda^{\frac{\omega}{\lambda}}}{\lambda^{\frac{\gamma}{\lambda}}} = \left(\frac{\lambda^{\omega}}{\lambda^{\gamma}} \right)$$

$$\log_r^{\omega} = 1, \omega$$

$$\log_r^{\gamma} = 1, \gamma = \log_r^{\gamma} = \frac{1}{\log_r^{\gamma}} = \frac{\omega}{\lambda}$$

5

$$\log_r^{\gamma} = \frac{\log_r^{\gamma}}{\log_r^{\gamma}} = \frac{\gamma \log_r^{\gamma} + \log_r^{\gamma}}{\gamma \log_r^{\gamma}} = \frac{\gamma m + \gamma}{\gamma} = \frac{\gamma m + \gamma}{\gamma}$$

5

$$\log_{\lambda}^{\gamma} = \log_{\lambda}^{\gamma} = \log_{\lambda}^{\gamma} + \log_{\lambda}^{\gamma} = m \rightarrow \frac{\gamma}{\lambda} \log_r^{\gamma} + \frac{1}{\gamma} = m \Rightarrow \log_r^{\gamma} = \frac{\gamma m - 1}{\gamma}$$

$$(\gamma, \gamma)^{\gamma m - 1} = \left(\frac{\gamma \omega}{\lambda} \right)^{\gamma} \rightarrow \left(\frac{\gamma}{\omega} \right)^{\gamma m - 1} = \left(\frac{\omega}{\gamma} \right)^{\gamma} \rightarrow \left(\frac{\omega}{\gamma} \right)^{-\gamma m + 1} = \left(\frac{\omega}{\gamma} \right)^{\gamma m} \Rightarrow \gamma m = -\gamma m + 1 \Rightarrow \gamma m = \frac{1}{2}$$

$$\gamma = -1 \rightarrow \log_{\lambda}^{\gamma} = \log_{\lambda}^{-1}$$

$$\gamma = \frac{1}{\gamma} \rightarrow \log_{\lambda}^{\gamma} = \log_{\lambda}^{\frac{1}{\gamma}}$$

5

$$\log_r^{\gamma} = a \quad \log_{\lambda}^{\gamma} = \frac{\gamma}{\lambda} (1 + a) = \frac{\gamma}{\lambda} (\log_r^{\gamma} + \log_r^{\gamma}) = \log_{\lambda}^{\gamma} \log_r^{\gamma} \Rightarrow b = \gamma$$

$$\log(\gamma b - \gamma) = \log((\gamma \gamma \lambda^{\gamma}) - \gamma) = \log 100 = (\gamma)$$

5

$$a = \frac{b + c}{\gamma} \Rightarrow \gamma a = b + c \rightarrow \gamma a = (\gamma a \log_r^{\gamma}) + c \Rightarrow c = \gamma a (1 - \log_r^{\gamma}) = \gamma a (\log_r^{\gamma})$$

$$\left(\frac{1}{\sqrt{\gamma}} \right)^{\frac{c}{a}} = \left(\frac{1}{\gamma} \right)^{\frac{1}{\lambda} \left(\frac{c}{a} \right)} = \left(\frac{1}{\gamma} \right)^{\left(\frac{1}{\lambda} \right) \left(\frac{\gamma a \log_r^{\gamma}}{a} \right)} = \left(\frac{1}{\gamma} \right)^{\left(\frac{1}{\lambda} \right) \log_r^{\gamma}} = \gamma^{-\frac{1}{\lambda} \log_r^{\gamma}} = \left(\frac{1}{\gamma} \right)^{\frac{1}{\lambda}} = \omega \frac{1}{\gamma} = \left(\frac{\gamma}{\sqrt{\omega}} \right)$$

5